50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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USN 2IMAT11
First Semester B.E. Degree E ammatlon, July/Au%WOZZ
Calculus and Dl
N 4
Time: 3 hrs. ‘ s Max. Marks: 100
g N
Note: Answer any FIVE full q S, choosmg ONE full ql%?"s%on Jrom each module.
1 a. (06 Marks)
b. Find the anglcbet@éen the curves r= 2 sﬁ@%ﬂd r=2cos 0. (07 Marks)
C. (07 Marks)
2 a. With usual notation proﬁ/:g that
3 4
S
_ (E5%; , (06 Marks)
¥z y ! -
b. Find the radius\q‘?g‘i%ﬁéurvature for the eT"=a"sinn 6 & (07 Marks)
C. Show that r =4sec’ 6/2 and r = “0/2 the pa&@&%urves cut orthogonally (07 Marks)
Module-2
3 a Expand Y =log (1 + sin x) t:pto the term coriwms x* by Maclaurin’s series expansion.
sk : = (06 Marks)
" «W
b. 7, 4z — 2x), show that 6uy + 4uy + 3u,=0. (07 Marks)
c. # y3 — 63x — 63y + 12xy is maximum at (-7, —7).
\w (07 Marks)
OR
1 g
4 a. Evaluate Lt (cosx)i? (06 Marks)
w20 aam;m i _
b. Ifu=x’+y’ where x =acost,y=bsin t find ik (07 Marks)
IfU=¢* cos y, V=¢"siny. Find ——~= ou,v) (07 Marks)
o(x,y)

~rinjvas Institute of Technwivy

Cihrgary Manaalore
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Module-3

a. (06 Marks)
b. (07 Marks)
C. (07 Marks)
X F
a. Solve: [1+logx ﬁﬂdx+(l+—)dy =0. , ¢ (06 Marks)
y ,, '
(07 Marks)

tes, the temperature of the air

minutes from the original?
(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)
b. Solve:(D*+D+ 1)y =¢ (07 Marks)

dy*

g dy .
1+x) e +y=2sin[log(1+x)]. (07 Marks)
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24 25 26 27

' .v»ff’,S’rolve the system %q&%tmns by Gauss @&Jo an method,
x+y+z=9

" Oinnvas 1ng,,..

‘lerarv. Manqaloro R

21MAT11

Find the rank of the matrix :
-1 2 3 -2
2 -5 1 2
3 -8 5 2/
5 =12 -1 6

(06 Marks)

Find for what values of A
Xx+y+z=6
x+2y+5z=10
2x+3y+Az=p
has

i) aunique so
ii) no solution
iii) Infinite

1any solutions. (07 Marks)
Solve{%wgt% system of equations :
10x+ 2y+ z=9

2x +20y— 2z=-44
-2x+ 3y+10z=22

by Gauss Seidel meth Japproximate root (carry out 3 iteration).

& (07 Marks)

221 22&“ 23 24
22 1&3 24 25

(06 Marks)
23, 24 25 26|

L N

o

X— 2y+3z—-8Vﬁ
2x+y- z%

Using Rayleigh power mgghaﬂ find the largest eigen value and the corresponding eigen
vector of the matrix G

(07 Marks)

by takmg (1 1 I”*fr as initial eigen vector (carryout 5 iterations). (07 Marks)

% % %k %k Xk

3 0f3
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